PopmMynbl COKpaLleHHOoro
YMHOXEHMUAL.

ABTOpP: yuntenb matematunkmn MOY
COLL Ne 57 r.AcTpaxaHu

Kypuno M.C.




-yMMbI (pasHoOCTH) OBYX
BblpaXXeHUMN:

(axb)?=a’+2ab+b?

Pa3HOCTb KBagpaToB OABYX
Bblpa)XXeHUWn:

a’-b**(a-b)(a+b)



CYMMbI (pa3HOCTU) ABYX
eHun:(atb)?=a’+2ab+b?




S

25f2-20fz+42%=




Tb KBaZpaToB ABYX
eHun:a%-b*(a-b)(a+b)

Y

=4x°-16y’




1)(0,6a -0,1b)? =

=(0,6a)?-2*0,6a*0,1b+(0,1b)? =

0,12
= 0,36a2-‘b+0,01b2

2) (7x+3y)(7x-3y) =(§)2-(}()2 J=R&GA9Y” = 4927 9y
U/



€ B BUAE BblpaXXEHUA:

HUe CyMMbI ABYX
BbIPpaXeHUn 2xuy Mh
° npou3BeneHue pa3HOCTU OBYX
BblpaXeHwuu 3a u 5b n l*
* KBagpaT CyYMMbI ABYX BbIpaXXeHUn 7a u
b.

 Pa3HOCTbL KBagpaToB

Pasno F (5a)* ~(3c)" ¥

* KBaapat pa3HoCTM ABY (66 —2d)°
. Y (6b-2d)"







Te COOTBETCTBYHOLLYIO

X+4y
e (2d-7k)*=(

+ (8d-k)(8c+k)=] |

. (=o,2a+o,5b)(o,§b-o,2a)=ﬂ T

e 25m*-4k? 4

J






